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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 526 65.52 | Thst | 000 ~ 0.00| 1.63 875 zhLst 1.00 | 6.00 ~ 5.81 65.52 | EnS | 65,00 ~ 5681 1.63 875
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.o0 ~ 547 6822 | Ths | 000 ~ 547|206 11.05 Zhst 1.00 | 5.00 ~ 7.30 6822 | #hst | 5.00 ~ 7.30| 2.06 11.05
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0o0o ~ 273 356.61 | ThLs | 000 ~ 273|263 13.56 Fhst 1.00 | 5.00 ~ 6.19 35.61 | =nhst | 500 ~ 619 2.563 13.56
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.o0 ~ 667 84.17 | #hst | 000 ~ 667|201 10.76 Zhst 1.00 | 6.00 ~ 9.21 84.17 | #hds | .00 ~ 921|201 10.76
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.o0 ~ 6.41 80.63 | ThLs | 000 ~ 641 1.87 10.01 Zhst 1.00 | 5.00 ~ 7.80 80.63 | =ns | .00 ~ 780\ 1.87 10.01
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Zhst ~ Zhst ~ Zhst ~ FhLs ~
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




